600%Y)—=X

Ay iV =
PARTS LIST
(2011£FRR)

GS) & e B fEah



N—=YYRFDRAIZDONT

1) 2=y Y 2 MalE, FadMonHpiESShs ik IncunEd,

ioE R A BMKa—F
AN—-600K 1189
AN—601K

fl EXIZTDODWVT

1) &HmEXOBE, B TRl EE CBEVWLET,

il

(5] LY oo b din 4 -
AN—601K 1189—2011—001 AA v L—)VL 1

2) FWEYNIL, EXNFRBLET T, BRSO ZFEVF 3
3) ZOR—VU R NIE, OFOREEMFEHLTWET,

2 B EWSEEIC XD & BE & OEMEMEORIRITIRO@Y T,

ST
* TR (I R = O~ — 7 Db B b DI L E L)
HamA < . )
oy Q| FRCHAED Y GHREBRISINIE OV TS bR E )
=] n]n]
HESHC <N | sew [ﬁﬁ%iﬁﬁ%%@bfﬂ’%@ﬁf%i#ﬁ}
D RO I HHaE B 0
g P | TR OS A BRSBTS A
hva L=l <
| R OTE R L BRI, IR ORI R E )
] (n]n]
O BRI | MG - BE L FoR L R e AL
; O~ — 7 % B e BRI
O : IFEpEX IZER Y e, L T s { . #}
B IIAERICIR D i, DARERT A 2 B B T 5 A 2
SRR R - ~ X XXX X X X eennes FHEE T
XXX XXX X ~eoenes FHED S

4) I T ERSSGT T 2L 03H D ETOTCIT THRBEVET,

AT T RFMERSRE ZFIH TS0,
FEE LIS O, HIROIABLL 2 SvE 3 & RERHECERE 2 < T RIR & 20 £,




1. WoxLU —/)UBER (AN-BO0K « B0TK) vvrererermereeeeeeeneeeeenn, 1
2. WEEL —ILINERSER (AN=B00 K » BOTK) +vvvvrrreeneneneneneenenenenen. 5
3. BURERSFR (AN-BO0K « B0TK) vvorererereereeeeeeeeeenn, T
4. SEKEBRIZR (AN-B00 K * BOTK) +ovvrrrrrrrrrssssnsnnnnnnnnnnnns 9
5. IBREEE 1 (AN-BO0K « B0TK) v eorererereereeeeneeeenen., 13
6. EEREB 2 (AN-B00 K * BOTK) +ovvrrrrrrrrrsssnsnnnnnnnnnnnns 15
7. BEEE 3 (AN-BO0K « B0TK) v eorererereereeeeneeeenen., 17
8. BTEEBRR (AN-BO0OK « BOTK) wvvreeeeermmenenennneneneen.. 21
9. HEY - HET X BRIR (AN-B00 K * BOTK) +ovvrrrrrrrmsnssnnnnnannnnnnnns 25
1 0. BHHhERIR (AN-B00 K * BOTK) wvevveemeeee i 29
11. BXRER (AN=B00 K » BOTK) = vvvvrmeemmenmenneeneeneennenn. 31
12. ﬁﬁoo@gf?ﬁ (AN-B00 K * BOTK) +vvvrrrrrrrrsssnsnnnnnnnnnnnns 37
1 3. JBEFR (JU—L) (AN-BO0K « B0TK) v vrererereereeeeneneeeen., 39
1 4. B8R GRw/N) (AN-BO0OK * BOTK) wvvveeeemrmmenenennnenenennn. 4 1
16. 7—9551% (N ZVUIF) (AN-B00K + BOTK) + o vveereneeneneenuneeneeenn. 43

— ATV 3 —
1 6. ZEEFEEB (ON-50 « DN-51) [A TSI TU] cevevvrnmemeiniininea., 45



1. 85XV —JLBIR (AN—600K-601K)




1. XU —J)LBAR (AN—600K-+-AN—601K)

=1 EET

BEES B B F S @M B & B M 500K | 607K R 1% B =

1-1 1189-2011-000-01 A1 =)L 1 N 10067551432
1189-2011-001-02 A1 =)L 1 110101S#%~

1-2  1189-2012-001-02 A1V —=IUR 1 N 10067551432

1-2a 1189-2012-001-03 A1V —=IUR 1 110101S#%~

1-3  1181-0155-000 JFUN— 5 5

1 -4 A301-0108-001 Fwk 20 20 M8

1-5  1192-2022-000 J-1)378 1 1

1-6 1192-1511-000 NIVDT—1) 2 2

1-T  05620-0130-030 ey 2 2 ¢3X30

1-8 1192-2015-000 Jw¥a10 28 28

1-9 0350-0141-022 Tw 16 16 MIOX ¢22X1t1.6

1-10 0521-0110-000 2AFwITEY 14 | 14 ¢ 10A

1-11 1192-2028-000 2707w hk8T-10 24 24

1-12 0620-0130-025 ey 26 26 @3X25

1-13 1192-2023-000 O->IJ7A 9 9

1-14 1192-2061-000 O0—> ¢44.5X8 38 38

1-15 0620-0130-015 oEY 2 2 ¢3X15

1-16 1192-2024-000-01 0->3J78 1 1

1-17 1192-2062-000 0-> ¢44.5X10 2 2

1-18 0750-0562-014 R=ILRP T 2 2 62010V

1-19 1192-2045-000 A5)620 1 2 2

1-20 H104-0106-012 AL 4 | 4 MBX12 SPW(@14X1t1.0)

1-21 1192-2046-000 IDRIIDIHZ— 1 1

1-22 1192-2029-000 2JO0Twhk8T-12 2 2

1-23 1192-2021-000 v Y 4 4

1 -24 1193-1561-000 A1 kB 2 j 1005755412

1 -24a 1193-1561-001-01 A1 BB 1 J\ 110101 S~

1-26 1189-2061-000 A1 RA 1 110101 S#~

1-26 |A222-01056-012 U ES) 6 4 M5X12

1 -27 K300-0105-001 i by | Vg RV 6 4 M5

1-28 1192-2048-000 F3=—- LI 1 1

1-29 1194-2041-000 FTruT 1 1

1-30 1192-2025-000 o->3J7¢C 1 1

1-31 1192-2027-000 O—->3IJ7E 1 1

1-32 1192-2026-000 0—->3J2D 1 1




1. MXU—JLBS R (AN—600K--601K)




1. XU —J)LBAR (AN—600K-+-AN—601K)

SHES B R = I EE1 B’ &
600K | 601K

1 -33 |0870-9190-361 Fr—236 3 3 |RS37-36
1 -34 |0870-9190-381 Fr—238 4 4 |RS37-38
1 -35 |0870-9190-401 Fr—240 2 2 |RS3T7-40
1 -36 |0870-9190-301 Fr—230 1 1 |RS37-30
1 -37 |0870-9190-481 Fr—248 1 1 |RS37-48
1 -38 |0870-9190-441 Fr—244 1 1 |RS3T7-44
1 -39 [1192-2041-000 TEF5 2 2




2. WX —)LIVERER (AN—600K+601K)




2. WXL — LSRRk

(AN—600K-+601K)

BHES B R E S DR 0% 8 2 M0 EE1 B’ &
600K | 601K
2 -1 1193-3531-001-01 R RT 2 2
2 -2 A100-0106-020 AL~ 4 4 IM6X20
2 -3 0350-0140-618 v 4 4 MEX @ 18Xt1.6
2 -4 ' A350-0106-000 Ov2J+wvhk 4 4 M6
2 -5 H164-0106-016 AL~ 23 23 M6X16 SPW(@ 18Xt1.6)
2 -6 11193-1511-001-1 A5 JRTL 2 2
2 -7 11193-1512-001-1 A5 RTR 2 2
2 -8 1192-2006-000 AN Ry 4 4
2 -9 1192-2007-000 IHITF vk 4 4
2 =10 11193-1513-001-01 FrRAHYIN—2 4 4
2 =11 11050-1031-000 FrRY— 2 2 IMSG-50RS
2 =12 11050-1032-000 FrRY— 2 2 IMSG-50R
2 -13 'A110-0108-012 AL~ 16 16 M8X12
2 =14 K301-0108-001 JA”HILF vk~ 16 16 M8
2 =15 11193-1411-000 Uaw/N— 2 2
2 =16 'H114-0108-020 AL~ 4 4 IM8X20 SPW(@18Xt1.6)
2 =17 11192-2066-000 EYIL 2 2
2 =18 11192-2067-000 E>Y3IR 2 2
2 -19 |H104-0106-016 AUk 10 10 M6X16 SPW(@ 14X t1.0)
2 =20 |A301-0106-40T DHFw bk T T 'MB6X40
2 =21 11192-2081-000 TS5 v kA 4 4
2 =22 |A252-0706-012 Fo23xY 11 11 M6X12
2 =23 11192-2082-000 ANJATRA 4 4
2 =24 13941-5015-600 ATV)IT 40 4 4
2 =25 |N300-0106-E01 ENTFwWE 4 4 M6 930 E&
2 =26 11189-2071-000 U—=ILA/N—F 1 1
2 =27 11188-2072-001-01 U—=ILA/N—B 1 1
2 -28 11189-2072-000-01 U—=ILA/N—R 1 é‘ 100676512
2 -28a/1193-35623-000-01 U—ILA/N—HR 1 J 110101 S~
2 =29 11192-2073-000 05 1 1
2 =30 1192-2074-000 AT 1 1
2 =31 11192-2075-000 PEWES) 2 2 IM6X12
2 =32 11192-55641-000 TS5k 2 2
2 -33 11192-5039-000 NILEZ bw/N—B 1 1




3.BIMOXRIER (AN—600K--601K)

.
-~




(AN—600K-+601K)

=1 EET

BEES B B B gigit B & B M 500K | 607K R 1% B =
3-1  1192-1501-001-01 pAnANVESNE 1 < 10067551432
3 -1a 1192-1521-100 JOYhkL—ILL B 1 110101S#%~
3-2 1192-1502-001-01 J0YkU—ILR 1 N 10067551432
3 -2a 1192-15622-100 JOYhKU—ILRB 1 11010124~
3-3 A110-0108-030 NI 2 2 M8X30
3 -4 A301-0108-001 +whk 10 10 M8
3-5 0350-0140-818 Tw 1 1 M8X ¢18Xt1.6
3-6 0522-0108-000 2AFwITEY 1 1 ¢8MA
3-7 1192-1503-000-1 NIL b R 1 1
3-8 1192-1506-000 T=1=IJTA 1 1
3-9 1192-1511-000 NIVDT—1) 2 2
3-10 0520-0130-030 ey 2 2 ¢3X30
3 -11 1192-1507-000 NIVIFII3Y 2 2
3-12 1192-2015-000 Jw¥a10 2 2
3 -13 0740-0001-000 cyo 2 2 ¢l10 @A
3 -14 1192-1512-000 D w4 (10X24X2) 2 2 MIOX g24Xt2
3-16 | 1192-1508-000 RTV)IT 9T 2 2
3-16 H164-0106-012 VI 2 2 MEX12 SPW(@18Xt1.6)

3 -17 1192-1509-000 2TV T 2 2

3 -18 0850-0000-050 VAL 2 2 M50
3-19 A100-0106-010 VIS 2 2 M6X10
3 -20 A300-0106-001 Tk 2 2 M6
3-21 0521-0108-000 2FvITEY 2 2 o¢8@




4. FKEEBAR (AN—600K-601K)




(AN—600K-+601K)

SHES B B E = GRM 0 OB S 8 0 S B B =
600K | 601K
4 -1 1192-3611-000 JU—LL 2 N 10067551432
4 -1a 1192-3611-001-01 JU—LL 2 11010121~
4 -2 1192-3612-000 JU—LR 2 N 10067551432
4 -2a 1192-3612-001-01 JU—LR 2 110101S#%~
4 -3 1101-3022-000 SEYL 8 10067551432
4 -4 1192-3613-000-01 JU—LT 2 2
4 -5 A252-0706-012 f>20xY 28 | 28 MBX12
4 -6 1192-3614-000 FIINRIH/IN— 2 2
4 -7 1192-3515-000 AIRT1IFTT2 2 2
4 -8 A252-0705-012 f>23xY 4 4 M5X12
4 -9 1192-3518-000-01 AV 21T 1 2 2
4 -10 1192-3519-000 Jv7JB 2 2
1192-3550-001-1 FIUINRJASY 2 éﬂrm~m 1005758 #12
1192-3550-001-1 FIUINRJASY 2 _ﬂm~m 110101 SH#~
4 -11 1192-3551-000 FIINY 2 i 1005758 #12
4 -11a 1192-3551-001-1 FIINY 2 _ﬂzws 110101 SH#~
4 =12 0830-0200-400 oo 2 110101 S#%~
4 -13 | A140-0500-408 F3IRIL b 2 M4AX8 110101 S#~
4 =14 1192-35621-000 T — 2 2
4 16 1192-3528-000 oo 4 4
4 -16 1192-35622-000 FTruT 4 4
1189-3560-000 NYZAR—=ILR600 ASY 1 QJT% 1005755412
1189-3560-000 NIHR—I)LRB600 ASY 1_/ﬂaw~w 110101 S#~
1189-3570-000 NZAR—=ILRB6ON ASY 1 QJB 10065755412
1189-3570-000 NIHR—JLRB6ON ASY 1 _ﬁ%4w40 110101 S#~
4 -17 1189-35661-000 NY/AR—=ILR600O 1 1005755 #4312
4 -1Ta | 1189-3661-000 NY/AR—=ILR600O 1 110101S#~
4 -18 1189-3571-000 NYZ/AR—=ILR6ON 1 100575 S #4312
4 -18a | 1189-3571-000 NZ/AR—=ILR6ON 1 110101 S#~
4 -19 1192-3621-000 VT w b 4 110101S#~
4 -20 1192-3624-000 N EDI et 2 2
4 -21 1192-3625-000 N 1 110101 S#~
4 -22 1192-35636-000 g e |V 8 1 1
4 -23 1192-3626-000 NTTA 2 j 100575S#i2
4 -23a 1192-3626-001-1 NTTA 2 J 110101 St~




4. FKEEBAR (AN—600K-601K)




(AN—600K-+601K)

SHES B 8 B OB R 8 W SER BB &
600K | 601K
4 -24 1192-3627-000 JUEHY 2 110101S#%~
4 -25 1199-0021-000 TILRA 2 110101S#%~
4 -26 1192-35625-000 DIZANTT 4 | 4
4 -27 1192-3532-000-1 Jntzy 4 | 4
1192-3620-000 NILTASY 2 j19my49 110101 SH#~
4 -28 1192-35623-000 NILT 2 ﬁ) 10057551432
4 -28a | 1192-3623-000 NILT 2 110101S#%~
4 -29 1192-3523-200 IN—RI371Uk 2 110101 SH#~
4 -30 |1192-3633-000 INTRTINT1TB 2 2
4 -31 1192-3615-000 Jw 2 1101018~
4 -32  N300-0106-E01 ENTwh 2 M6 930 2E 110101S#~




5. BERE 1 (AN—600K-+-601K)

FI—96L



5. BERE 1

(AN—600K-+601K)

=1 EET

BEES B B F S @M B & B M 500K | 607K R 1% ]

1192-4013-000 O—-ILATRASY 1 1 1~3

5-1 1192-4014-000 O—-JILAT R 1 1

5-2  1192-4015-000 H1TROLHY 1 1

5-3 1192-4016-000 R —b 1 1

5 -4 H164-0106-016 NI 4 4 M6X16 SPW(@18Xt1.6)

5-5 | 1192-4006-000 2RI —=/IN\IJIR 1 1

5-6 1192-4032-000 RIU—=NITF 1 1

5 -7 1192-4048-000 D w3 (11X17X0. 8) 1 1

5-8 1192-4017-001-1 2L =N 28 28

5-9 1192-4019-000 H>—9 21 21

5-10 1192-4018-001-01 HS—2T.4 1 1

5 -11 H114-0108-016 NI 4 4 M8X16 SPW(@18Xt1.6)
1192-4040-000 NYa20—-)LASY 1 1 12~24

5 -12 | 1192-4042-000 O—-JILYINTL 1 1

5 -13 | 1192-4043-000 O—-JILYINUR 1 1

5 -14 | 1192-4045-000 N\Y20—)LM 21 27

5 -16 | 1192-4046-000 N¥a0-)LL 1 1

5 -16 | 1192-4047-000 N¥Y210-)UR 1 1

5 -1T | 1192-4044-000 O—JILARILE (MB) 4 4

5 -18 0350-0120-512 w3 8 8 M5X@12Xt0.8

5 -19 | A360-0100-502 2T)IT Iy v 8 8 M

5 -20 A300-0105-001 Fwbk 8 8 M

5 -21 1192-4051-000 o—-ILIJD 1 1

5 -22 0572-0005-016 MR — 1 1 5X5X16

5 -23 1181-0216-000 w3 2 2 MI5.5X @25X1t0.6

6 -24 | 0T40-0001-500 cyyo 4 4 @15 B

5 -26 | 1192-4055-000 TJw¥a1156 2 2

5 -26 |1192-4052-000 270w hk60T 1 1

5 -27 A040-0106-012 AL b 2 2 Mex12 7T

5 -28 0870-9030-961 Fr—J96L 1 1 RS25-96

5 -29 | 1192-4053-000 270w hk36T 1 1

5 -30 0870-9030-761 Fr—JT6L 1 1 RS25-76




(AN—600K-+-601K)

w®B 2

6.

fs—2CAL




6. BERE 2

(AN—600K-+601K)

=1 EET

S|LEES 8 @ & S HEMKE B o B 500K | 601K R ] fi
6 -1 |1192-4004-000 TSI A 2 2
6 -2 |1192-2015-000 Jwza10 2 2
6 -3 |H164-0106-016 RIL b 8 8 |[M6X16 SPW(@18X1t1.6)
6 -4 |A100-0106-040 RIL b 2 2 |M6X40
6 -6 |0350-0140-618 PAA T 4 4 M6X @18X1t1.6
6 -6 |A300-0106-001 VAN 2 2 M6
6 -7 |1192-4007-000 JEIUNTL 1 1
6 -8 |1192-4008-000 Y+ 1JNYR 1 1
6 -9 |1192-4009-000 O—)LAS)L 1 1
6 -10 |1192-2015-000 Jwza10 2 2
6 -11 |1192-4009-100 HNo— 1 1
6 -12 |1192-4026-000 HOVRID 1 1
6 -13 |0740-0001-200 cuyor 2 2 @12 BHF
6 -14 |1192-4027-000 270w k48T 1 1
6 -15 |0520-0130-030 ey 1 1T [ ¢3X30
6 -16 |1192-4061-000 AONYO-) 1 1
6 -17 |0740-0001-000 cyyo 4 4 |10 BB
6 -18 |1192-4062-000 ATO0Twbk24T 1 1
6 -19 |A040-0106-012 NIL b 3 3 [MeX12 71T
6 -20 |1192-4065-000 O-ILT7>Y 1 1
6 -21 |1192-5026-000 ATO0Twbk12-10 1 1
6 -22 |A242-0104-008 pEAES) 1 1 M4X8
6 -23 |0870-9030-94A FI—294L 1 1 |RS25-94
6 -24 |1192-4024-000 Jwvya12 2 2
6 -26 |1192-4029-000 ATO0Twbk13T 1 1
6 -26 |1192-4038-000 AFwIEY 128 1 1
6 -27 |1192-4028-000 ATJO0Twbk12T-C 1 1
6 -28 |1189-4305-000 ATO0Tw k16T —M 1 1
6 -29 |0870-9190-341 FI—234 1 1 |RS37-34




1.8 XE 3 (AN—600K-601K)




1. BExE 3

(AN—600K-+601K)

=1 EET

BEES B B B gigit B & B M 500K | 607K R 1% ]

T-1 1189-4001-000 JU—LL 1 1

T-2 1189-4002-000 JU—LR 1 1

T-3 0350-0140-618 Tw 6 MEX ¢ 18X t1.6 10057551432
0350-0140-618 AR 8 MBX @18Xt1.6 11010124~

T-4  1192-2075-000 O EES 12 | 12 MBX12

T-5  1192-4003-000 Rw/NUYTYNTT 1 1

T-6 H114-0108-016 NI 2 2 M8X16 SPW(@18Xt1.6)

T-T 1192-4011-000 AR 1 <j 10067551432

T-Ta 1192-4011-001-1 AL 1 J 110101S#%~

7-8  N300-0106-EO1 ENTFwh 2 M6 930 2 100657551432
N300-0106-E01 ENTFwh 4 M6 930 FE 110101S#%~

T-9 1189-4012-000 E-9H/1\— 1 1

7-10 H164-0106-016 NI 17T | 17 M6X16 SPW(@18Xt1.6)

T-11 1192-4021-000 T3 P—LR 1 1

7-12 A112-0110-035 NI 3 3 MI0OX35

7-13 A303-0110-001 T+whk 1 1 M10

T-14 1192-4039-000 Ut whk 3 3 M0

7-16 1192-4022-000 270w k14T 2 2

7-16 \MB12-15DU-000 RSARPIIT 3 3

7-1T 0T40-0001-200 cyyo 3 3 o¢l2 @A

7-18 1192-4023-000 XTI 1 1

T-19 A242-0106-030 FRI%Y 1 1 MBX30

T-20 K300-0106-001 J=HFw bk 1 1 M6

T-21 1192-4025-000 FJY3JP—L8 1 1

T-22 1189-4051-000 270w hk16T 1 1

T -23 | A330-0100-600 F3oFvhk 1 1 M6

T -24 1192-4034-000 FJ¥3S 1 1

7 -26 0350-0150-822 w3 1 1 M8X @22Xt2.3

T-26 1192-4035-000 2TJ0Tgwbk22T 1 1

T-27 1192-4036-000 Rw/N\AT RL 1 1

T-28 1192-4037-000 Rw/NHT RR 1 1

T-29 1192-4081-000 71N —L 1 N 1005755412

T -29a 1192-4081-001 71— L 1 110101 S#~

7-30 1192-4082-000 7/N—R 1 N 1005755 #4312

T -30a 1192-4082-001 7/N—R 1 110101 S#~




1.8 XE 3 (AN—600K-601K)




1. BExE 3

(AN—600K-+601K)

= i [ = i o 8%1@;&

BHEBES T R FE =8 Gm¢ ™ B B 500K | 60K iR 1% wm =
T -31 |1192-4085-000-01 N\Y R w/N\ 1 j 1005755112
T -31a |1192-4085-001-01 N\ R w/N 1 J\ 110101 S~
T -32 1192-4087-000 AN—Y 2 2
T -33 |0350-0141-022 Twy 2 2 IMI0X @ 22Xt1.6
T -34 1192-2082-000 NI RA 2 2
7 -35 3941-5015-600 27T 40 2 2
7 -36 |1189-4013-000 IR /N~ 1 1
T -37 [1189-4014-001-1 Y RAHN—- 1 1




8. BI&RERBIR (AN—600K-+601K)




(AN—600K-+601K)

=1 EET

BEES B B F S @M B & B M 500K | 607K R 1% ]
8 -1 1189-5011-000 270w hk12T 1 1
8 -2 A281-0100-610 OwAHIPFYERAZRT 1 1 MBX10
8 -3 1192-5015-001-01 JRO2TO0T v hE 1 1
8 -4 A040-0106-012 NI 2 2 Mex12 7T
8 -5 0870-9190-461 Fr—46 1 1 RS3T-46
8 -6 1192-5035-000 > 1 1
8 -7 1192-5036-000 270w hk40-12 1 1
8 -8 A040-0106-010 NI 2 2 MBX10
8 -9 | 1192-5037-000 J—1JA 1 1
8 -10 1192-5038-001 NI Fw/N 1 1
8 -11 H164-0106-016 NI 4 4 MEX16 SPW(@18Xt1.6)
8 -12 | 1189-5051-000 I ROH/N— 1 1
8 -13 1192-2075-000 O EES 2 2 MBX12
8 -14 1192-5501-000 JU—LL 1 1
8 -16 | 1189-5502-000 JU—LR 1 1
8 -16 | 1192-4055-000 Jw¥a1156 2 2
8 -17 1181-0206-001-1 NILkIIRY 1 1
8 -18 | 1192-5506-000 JURPO- 2 2
8 -19 1192-5507-000 JIRFPIITA 1 1
8 -20 0572-0005-020 MR F — 1 1 5X5X20
8 -21 1181-0216-000 w3 4 4 MI5.5X ¢25Xt0.6
8 -22 0T40-0001-500 cyyo 4 4 @15 B
8 -23 1181-0221-000 JIURPIIB 1 1
8 -24 | A100-0106-050 VIS 2 2 M6X50
8 -26 | A300-0106-001 Fwbk 2 2 M6
8 -26 | 1192-5508-000 JIRPHT R 1 1
8 -27 H104-0106-016 AL 1T | 17 M6X16 SPW(@14Xt1.0)
8 -28 | 1189-5509-000 E-5-HN- 1 1
8 -29 1189-5518-000 23V AN= 1 1
8 -30 1192-5611-000 1 hFP—L 1 1
8 -31 0350-0141-022 w3 2 2 MIOX @22Xt1.6
8 -32 1192-5612-000 A5 )L 1 1
8 -33 | A100-0106-030 VI 1 1 MBX30
8 -34 |F300-0106-000 Jo5VIJF vk 1M1 11 M6
8 -35 1192-5613-000 XTI 1 1




8. BI&RERBIR (AN—600K-+601K)




(AN—600K-+601K)

=1 EET

|EES 8 © B iRt B o B 500K | 601K R ] fi
8 -36 |1192-5514-001-1 S rT=1) 1 1
8 -37 |0740-0001-200 cuyor 2 2 @12 BHF
8 -38 |1192-5516-000-01 L/N— 1 1
8 -39 |3704-8253-000 iy 2 2 |p12M
8 -40 |A110-0108-012 RIL b 2 2 [M8X12
1192-5520-000 NI TN 1 _/|\4‘la~47 110101 SH#E~
8 -41 |1192-5521-000 FHINY 1 jﬁ 1005753 #i2
8 -471a |1192-5521-001-1 FHINY 1 J 110101 S~
8 -42 |1192-5522-100 AT RL 1 110101 SH#E~
8 -43 |1192-5523-100 -1 RR 1 110101 SH#E~
8 -44 0350-0130-613 DAV A T 2 M6X @ 13X1t1.0 110101 S~
8 -45 |A360-0100-602 RTVIT I+ 2 M6 110101 SH#E~
8 -46 |A350-0106-000 OwJrwvhk 2 M6 110101 SH#E~
8 -4T |A321-0108-001 VAN 2 2 M8
8 -48 |0350-0141-818 DA A T 2 2 [M1IBX @ 18X1t1.6
8 -49 | 643-1818 200AD RFaozry 1 1
8 -b0 |1192-5531-000 J-1)—8 1 1
8 -b1 |0851-1000-037 VAL 1 1 JLA-3T
8 -62 |1192-5542-000 T rAN= 1 1
8 -63 |N102-0106-020 JITRIL b 1 1 M6X20
8 -b4 1192-5581-000 RN/ 1 1
8 -bb 1192-5591-000 T2y —L4 1 1
8 -b6 |1192-5592-000-01 A 1 1
8 -bT |0350-0140-618 PAVIA T 2 2 MEX @18Xt1.6
8 -68 |1192-5594-000-01 DAES Al VA 1 1
8 -b9 |1192-5595-000 JU—+h 1 1
8 -60 |A252-0706-012 bZRORY 4 4 M6X12
8 -61 |1192-5596-000 JU—+h 1 1
8 -62 |1192-5597-000 J—hA 1 1
8 -63 |1192-5598-000 ZHTNY 2 2
8 -64 |1192-5599-000 ~—h8B 2 2
8 -6 |1189-5700-000 RI37RW/N 1 1




.8 - BT KEBRIR (AN—600K-601K)




(AN—600K-+601K)

SHES B B E = GRM 0 OB S 8 0 SER BB &
600K | 601K
9-1 1189-5021-000 NTEIP—LL 1 1
9 -2 A301-0006-25T ShHF vk 1 1 M6X25
9-3 | A252-0706-012 rS2a%3 5 5 M6X12
9 -4 1189-5022-000 NTEZP—LR 1 1
9 -5 1192-5023-000 NTI3TSY 1 1
9-6 1000-2348 097 (C) 2 2
9 -7 0731-0101-010 FaogrS1F— 3 3 11X17TX1.0
9 -8 0T40-0001-000 cyyo 3 3 @10 @A
9-9 1192-5025-000-01 > 1 1
9 -10 1192-5026-000 705w hk12-10 2 2
9 -11 | A242-0104-008 FARI%Y 2 2 M4X8
9 -12 1192-5027-000 NTEZHN- 1 1
9 -13 1192-5028-001 > 1
9 -14 | 0T40-0001-T00 cyyo 1 1 @17 @A
9 -15 | A252-0708-020 rS2a%3 1 1 M8X20
9 -16 1192-5031-000 PT1RS—40 1 1
9 -17 \MB10-20DU-000 RSARPIIT 1
9 -18 0870-9030-T4A Fr—JT4 1 1
9 -19 1192-5033-000 2T)T 2 2
9 -20 A100-0106-070 AL 2 2 MeXT0
9 -21 |A330-0100-60P F3oFvhk 2 2 M6
9 -22 1189-5034-000 79/\— 1
9 -23 1192-2075-000 O EPES) 1 1 MEX12
9 -24 0870-9030-58A Fr—258 1 1 RS25-58
9 -26 1192-6151-001-01 A AVEYNE 1 1
9 -27 1192-61562-001-01 723 TJU—LAR 1 1
9 -28 H164-0106-016 AL 4 | 4 MBX16 SPW(@18Xt1.6)
9 -29 1192-61563-001-01 TS5 8\~ 1 1
9 -30 H104-0106-016 AL 6 6 M6X16 SPW(@14Xt1.0)
9 -31 1192-6154-000 IFYN— 1 1
9 -32 0350-0140-818 ARC 2 2 M8X@18Xtl1.6
9 -33 A301-0108-001 >k 4 4 M8
9 -34 1192-6161-000 NTRTZSY 1 1
9-35 1192-6166-000 A9 ) 2 2




9. HEXD - HEA %
TREREFR (AN—600K-601K)

@~
@-©
L=\
V4
(@)}
e

23




(AN—600K-+601K)

=1 EET

BEES B B B gigit B & B M 500K | 607K R 1% ]
9-36 1192-6167-000 Tw 2 2 M20.5X 34X1t0.8
9 -37 1000-2348 097 (C) 4 | 4
9 -38 0731-0101-010 FaogrS1F— 4 4 11X1TX1.0
9 -39 0T40-0001-000 cyo 2 2 910 @A
9 -40 1192-6171-000-01 v IO 2 2
9 -41 1192-6172-000 A PAEES 2 2
9 -42 | 7550-0003-020 RTIITEY 2 2 |3X20
9 -43 1192-6173-000 RTIT 2 2
9 -44 1192-6174-000 T357 vk 1 1
9 -45 | A140-0600-650 F3aomRIL K 2 2 MBX50
9 -46 | A300-0106-001 +whk 4 4 M6
9 -4T | A330-0100-60P FaoFuhk 2 2 M6
9 -48 H114-0108-030 NI 2 2 M8X30 SPW(@18Xt1.6)
9 -49 1192-6181-001 TSI P—LA 1 1
9 -50 1192-6183-000 AN AV IN: 1 1
9 -51 0350-0151-026 Tw 1 1 MIOX @26Xt2.3
9 -52 1192-6184-000 Fxr—JHN—- 1 1
9 -563 1192-5026-000 707 wvhk12-10 1 1
9 -564 | A242-0104-008 FRI%Y 1 1 M4X8
9 -55 1192-6185-000 2707w hk40-10 1 1
9 -56 |A040-0106-010 VIS 1 1 MBX10
9 -57 0870-9031-06A Fr—2/106 1 1 RS25-106




10. %R (AN—600K--601K)




(AN—600K-+601K)

SHES B B E = GRM 0 OB S 8 0 SER B B =

600K | 601K

10 -1 1189-2501-000 L —)LL 1 1005T5S #ie

10 -1a 1189-2501-001-01 L —ILL 1 110101 St~

10 -2 1189-2502-000 L —ILR 1 100575 S #ie

10 -2a 1189-2502-001-01 L —ILR 1 110101 St~

10 -3 A110-0108-030 VI 2 2 M8X30

10 -4 A301-0108-001 Tk 26 26 M8

10 -5 1192-2511-000 O->3J7R 6 6

10 -6 1192-2512-000 NIVYIO-2 12 12

10 -7 A100-0106-010 VI 2 2 MeX10

10 -8 A300-0106-001 Fwhk 2 2 M6

10 -9 1192-2516-000 2T — 1 110101 St~

10 =10 H114-0108-016 VI 4 M8X16 SPW(@18Xt1.6) 11010124~

10 -11 0350-0140-818 AR 1 1 M8X @ 18Xt1.6

10 -12  05622-0108-000 2AFwITEY 1 1 ¢8MA

10 -13 1193-3681-000-01 JwJB 1 1




11.TBEBAFR (AN—600K--601K)

B

4
&
A

waEBEREE—NLIC S5
13 20vJ51TEE ¢

[

MARBIREE NI
1> 20v)51TERE




11. EREER

(AN—600K-+601K)

=1 EET

RHBES I @ B 5 GaM BT G B M 600K | 601K = & =]
11 -1 1189-3000-001-01 PhN\YVYDITFTIVUD 101
11 -2 |E310-0134-150 1220w I59° 10 | 10 UB-150
11 -3 |H104-0106-012 VI 1 1 M6X12 SPW(@14Xt1.0)
11 -4 11189-4501-000 2E3IINR-2 1 1
11 -5 |H104-0106-016 VI 6 6 M6X16 SPW(@14X1t1.0)
1189-4503-000 NY2E—H60W ASY 1 1 1T~12
11 -7 1189-4503-110 Fr—rE-H60W 1 1
11 -8 [kkkk skekokk kokk +— 1 1
11 -0 [kkkx kkkk gk PFNRXI 4 4
11 =10 [*kkskx sokskk ok OvhHIDF vk 4 4
11 -11 |0350-0140-618 v 4 4 MEX @ 18Xt1.6
11 =12 |A360-0100-602 2T T IS+ 4 4 M6
11 =13 |1189-4504-000 23y 2 2
11 =14 |H242-0104-016 FRIARY 4 4 [M4X16 SPW(@ 10Xt0. 8)
11 =15 |A300-0104-001 +w bk 4 4 M4
11 =16 |1189-4505-000 FIEY 2 2
11 =17 1189-4506-000 FIEY 1 1
11 -18 |1189-4507-000 FIEY 1 1
11 -19 1189-4508-000 FIEY 1 1
11 -20 |1189-4509-000 FoEY 2 2
11 -21 |1189-4510-000 FYTYI-R 1 1
11 -22 11192-4512-000 FArIIYINY=E 2 2
11 =23 kkkk kkkk skkk OwvwAHI AR 2 2
1189-4513-000 ANYT71ITF ASY 1 1 |25~28
11 -25 |1189-4513-110 ANYT1ITF 1 1
11 =26 sk sokokok ook UYWT T b 1 1
11 =27  kkkk kkkk skokx ES0vy e 1 1
11 -8 |kxkkk skkk skokk AT IT TV 1 1
11 -29 1192-4514-000 JOXw b 3 3
11 -30 |1190-0611-000 TwzaNoYy hyT 3 3
11 -31 1192-4515-000 Ty 1 1
11 -32 1192-4517-000 “bv3dyEY bk ASY 1 1
1192-4518-000 CUHIZTYF ASY 1 1 134~38
11 -34 |1236-2105-120 2AT1TvF 1 1
11 =35 |sskkok skokkok skokok OvJ+wvhk 1 1




11.TBEBAFR (AN—600K--601K)

B

4
&
A

waEBEREE—NLIC S5
13 20vJ51TEE ¢

[

MARBIREE NI
1> 20v)51TERE




11. EREER

(AN—600K-+601K)

=1 EET

SH&ES 8 o & S LRk 8 B B 500K | 601K R 18 ]

11 =36 |*kkx sokkk skokk OvwJ+wvwhk 1 1

11 =87 kkkk kkkk kokx OvI)oJwvwIp 1 1

11 =38 kkkk kkkk kkx OvxJYyyo 1 1
1192-4519-000 NY2RTvF ASY 1 1 41~45

11 -41 11192-4519-110 2T YT L 1

11 =42 [xkkx skokkk kokk Ovw2J+wvhk 1 1

11 =43 [xkkx skokkk kokk Ovw2J+ vk 1 1

11 =44 sk ook soksk OvwoIOwy v 1 1

11 =45 kxkk kkkk kkx OvxJYyyo 1 1
1192-4521-000 NIZATRATYF ASY 1 1 |47~51

11 -47 11192-4519-110 2T YT 1 1

11 =48  [xkkx skokkk skokk OvwJ+wvhk 1 1

11 =49  [xkkx skokkk skokk OvwJ+wvhk 1 1

11 -B0  [kkksk kokkk kokk OvI)JwvwIp 1 1

11 =571 |kxkk skkk kokk Ok o 1 1

11 -62 11192-4522-000 NP ) 1 12

11 -63 |1192-4523-000 MROAAF T 1 1 JU—

11 -64 11236-2107-000 MROAA1F T 1 1T IR

11 -85 11192-4524-000 AT YFATNY 3 3

11 -66 | 1192-4525-000 JvINFIEY 1 1

11 =67 1192-4526-000 YA IRTH 2 2

11 -68 1192-4531-000 535+ 2 2

11 -69 11192-4532-000 DAVA 1 1

11 -60 |1189-4533-000 Y9y FIARDH 1 1

11 -61 | 1189-4536-000 vy IEY 1 1

11 -62 |1189-4537-000 v FaOHYTIEY T 1

11 -63 | 1189-4538-000 NIVDTIEZY 1 1

11 -64 |E310-0126-100 120w 8 8 8 |UB-100

11 -65 |E310-0150-360 120w 87 1 1 1UB-360

11 -66 | 1192-4561-000 TYVIRY DI 1 1

11 -67 |1192-4562-000 Jw R 1 1

11 -68 |0432-21056-008 SR VEY TR 4 4 M6X8
1189-5005-000 NIVDE-HI0W ASY 1 1 |70~T5

11 -70 |1189-5006-110 FP-RE-H90W 1 1




11.TBEBAFR (AN—600K--601K)

B

4
&
A

waEBEREE—NLIC S5
13 20vJ51TEE ¢

[

MARBIREE NI
1> 20v)51TERE




(AN—600K-+601K)

=1 EET

REES 8 ® & Bigit B @ B M 500K | 601K R ] fi
11 =71 [xkkx sokkk ok - 1 1
11 -T2 ko sk ok >FR2RI 4 4
11 =T3  [xkkk kkkk kokk OvhHIF vk 4 4
11 -T4 |0350-0140-618 PAAY 4 4 IMBX @ 18Xt1.6
11 -T5 |A360-0100-602 AT IT TV 4 4 M6
11 -76 |1189-5007-000 T—5H—-0-F 1 1
11 =77 |1055-1149-000 J0OXw k 3 3
1189-5008-000 INYTIITH ASY 1 1
11 -81 [1189-4513-110 ANI T ITF 1 1
11 82 [xkkk kkkk kokk MW 1 1
11 =83  [kkkk skekokk skokk ESDOwyp 1 1
11 -84  |*xxkskk skkskk skokk 2T T v 1 1
11 -85 | 1192-3550-001-1 FTYINRIJASY 2 2
11 -86 |1192-3531-000 HIRATFITYI—R 2 2
11 -87 |1136-4505-000 P—RI—R 1 1
11 -88 |1192-4541-000 1220w D5° 1 1




12.VEREHE (AN—600K--601K)

[eV] (@)}

(e8]




12. (YEBR

(AN—600K-+601K)

SHES B B E = GRM 0 OB S 8 0 S B B =
600K | 601K

12 -1 1189-7011-000-1 NTRTIT 1 j 10067551432
12 -1a | 1189-7011-001-11 NTRTIT 1 j\ 11010124~
12 -2 1189-7012-000 VT w b 1 1

12 -3 1189-7013-000 v+ 35 1 1

12 -4 1189-7014-000 ASES 2 2

12 -5 1189-7015-000 R—H R 1 1

12 -6 1055-1149-000 J0OXw 2 2

12 -7 1189-T016-000 Fwhk 1 1

12 -8 1189-T017-000 NT 2AR—2 1 1

12 -9 1189-7018-000 NTR2ANY R 1 1

12 =10 1193-7021-000 NT RDT 1 110101S#%~
12 =11 1192-8001-000 2INTF 1 1

12 -12  1181-0715-000 LRIV =3 1 1

12 =13 1192-8003-000 R—2N\Y R 5 5

12 -14  1192-8006-000 JINI0TSY 1 1

12 =16 1189-8011-000 Y AFYES 1 1

12 =16 0991-5000-006 OwhILIF 1 1

12 -17 1192-2076-000 Syl 1 1




(AN—600K+601K)

13.¥Y=J8f% OUL—=/1)

o,r

ARAEERTINEILE N2OLIMOE g g
R WA T LWL ARG A J —v_\

8

LN L

SEE@R S

A UN="1)K

=\ ELE

a1 —"14~ac

A=K



13. Y=7Bff OUL—=L)

(AN—600K-+601K)

SHES B 8 B Bl B R B W D OA w 1
600K | 601K

13 -1 1192-8578-000 NIHT R =D 4 4

13 -2 1136-6001-000 P—2AX—7D 1T

13 -3 1192-8562-000 RIRTIN—T 2 2

13 -4 1189-8552-000 AEDVHTAFPILN =D 1 1

13 -6 1192-8582-000 2TYVF—7D 1T

13 -6 965-T710-100 TAADRATwH— 11 Y
13 -7 1189-8587-001-1 HIRAN—7600K 11

13 -8 1192-3546-000 FAZ—)IN—D 11

13 -9 1192-3547-000 SARFN—T 1 1

13 =10 1192-3542-000 HI2AFAI1N—7 11

13 =11 1193-8589-000 JwIN—78 1

13 -11a 1193-8589-001 JwIN—78 1

13 =12 1192-8579-000 FJPYAHTIY—D 101

13 =13 1189-8598-000 RIPYATEYATY S 1

1189-8598-001

RUPUATEYATY 3




14.—7JBF% (GRhw/Y) (AN—600K--601K)

(K

BNIE

IRIH/N—

23V H/N—

YrRH/N—



14. Y—7JB8f%

(FRw/\)

(AN—600K+601K)

=1 EET

S|LEES 8 @ & S HEMKE B o B 500K | 601K R ] fi
14 -1 |1260-8105-000 X=LTU—h 1 1
14 -2 |1192-8551-000 2T7TJN—=7RL 1 1
14 -3 |1192-8552-000 2T7TJNY—7RR 1 1
14 -4 11189-8556-000 DEIIFEN—D 1
14 -4a |1189-8556-001 DEIIFEN—D 1
14 -5 |1192-8557-000 Do2VFN—7T 1 1
14 -6 |1192-8558-000 AEUN—=D 1 1
14 -7 |1192-8566-000 FaoAN—7 1 1
14 -8 560-3310-100 TAIDRATYvH— 2 2 NIb
14 -9 965-7710-100 TAIDRATYvH— 1 1 Y
14 -10 |1192-8562-000 IRORAIN—7T 1 1
14 -11 |1189-8581-000 V)3 IOAEIN—D 1 1
14 -12 |1189-8583-000 J2)30F3oEAINY—1 1 1
14 -13 |1192-8563-000 AEUN—=D 2 2




16.¥Y=DRf% (\¥aVDIF)

(AN—600K-+-601K)

H/N— R

BEROEOLYE (6008)

WLl A~
B

wz g,

JU=LR

°wo

— 43—



16. Y—7JB8f%

(N\YavI9F)

(AN—600K-+601K)

=1 EET

|HBES B 6 F S GBE BT G B M 500K | 601K = & =]
15 -1 1192-8571-000 STIN—IM 2 2

15 -2 1189-8588-000 NY21)39¥—=2600 1 1

15 -3 1192-8562-000 MRIRTIN—T 2 2

16 -4 965-T710-100 TAADRATwH— 11 Y
15 -6 | 1192-8573-001-1 NY2AFT—IN—D 101

15 -6 | 1192-8574-000-1 FYRIDFI—IN—T 101

16 -T  560-3310-100 TAADRATwH— 2 2 NI
15 -8 670-4005 PP ZACAVESE S 1 1

15 -9 1192-8577-000 TSIAFEAN—T 2

15 -9a  1192-8577-001-01 TSIAFEAN—D 2

156 =10 1192-8578-000 NDIPT R =D 2 2

— 44—




16.3 3 (DN—50+DN—=51) [ATy3V)

) Ve

Jb—L R




16. BRHMHEE (DN—50-DN—51)

o ED)

SHES B 8 B OB R 8 W S B B =
600K | 601K

16 -1 1192-3781-000 e v VAN 1 1005T5S #ie

16 -1a 1192-3781-001 SO —L 1 110101 St~

16 -2 1192-4065-000 Jw>a1156 1 1

16 -3 1192-3783-000 DERGAN 2 2

16 -4 1192-3783-100 TwyaFuhk 2 2

16 -5 1192-3784-000 T1)OAYR—2R 1 1

16 -6 1192-3785-000-01 o->3J7 1 1

16 -7 0740-0001-500 cyyo 1 1 o165 #A

16 -8 1181-0216-000 AR 2 2 MI5.5X ¢25X1t0.6

16 -9 1192-3786-000 a—> 2 2

16 -10 F242-0104-008 FRIOARY 1 M4X8  SWY 110101 SH#~

16 =11 A300-0104-001 Tk 1 M4 110101 St~

16 =12 1192-3787-000 R—H R 1 100575 S #ie
1192-3787-001 R— R 1 110101 S~

16 -13  A350-0106-000 Owo+wh 1 1 M6

16 -14 0350-0130-613 AR 1 1 M6X @ 13Xt1.0

16 -156 1192-3788-000 2T)IT 1 1

16 -16 0520-0130-025 ey 1 <j ®3X25 100575 S 12

16 -16a 1192-2021-000 tw kY 1 fﬁj 110101 St~

16 -17 1192-3791-000 NI THN— 1 1

16 -18 1192-2075-000 O EPES) 1 1 MEX12

16 -19 1192-3764-000 b2 2WR—2 1 1

16 -20 1192-3801-000 R—2 1 1

16 -21  0521-0106-000 2FwITEY 1 1 @6/

16 -22 1192-3802-000 DIk 1 1

16 -23 1192-3803-000 T — 1 1

16 -24 1192-3804-000 AR 1 1 M20X @ 30X t0. 6

16 -26 1192-3805-000 I 1 1

16 -26 1192-2051-000 MIWTTL— K 1 j 100575S#i2

16 -27 1192-3811-000 OvoJU—hk 1T 110101 St~

16 -28 H164-0106-016 AL 1 M6X16 SPW(@18Xt1.6) 110101 St~

16 -29 A222-0105-012 U ES) 2 M5 X 12 100575S 12

16 -30  K300-0105-001 J=HILF vk 2 M5 100575S 12

16 -31 A222-0106-016 U EES) 2 M6 X 16 1005755 12

16 -32 0350-0140-618 AR 2 MEX ¢ 18X t1.6 1005755 12




16.3 3 (DN—50+DN—=51) [ATy3V)

) Ve

Jb—L R




16. BERHHEE (DN—50+<DN—51) [ATFy3V]

SHES ¥ R E S AN 0 # 8 8 0 Sl B8 &
o ° 600K | 601K c
16 -33  A360-0100-602 AT IT Iy 2 M6 1005752452
16 -34  A300-0106-001 F+w bk 2 M6 1005752452
16 -35 | 1197-2007-000 SNJ)L600 1 11010124~
16 -36  1192-8564-000 Fa9RIN—7 1 1
16 -37 |1192-8565-000 NETIN—D 1 1




20148 78 {EB




